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Fluency 1 

Complete the stem sentences. 

 

 

 

_____ and  _____ combine to make 51 

 

 

 

_____ and  _____ combine to make 75 

 

 

 

_____ and  _____ combine to make 16 

 

 

 

_____ and  _____ combine to make 98 

Fluency 2 

Draw a non-standard partition of 43 

 

 

 

 

 

 

43 partitions into _____ and _____ 

 

Draw a non-standard partition of 87 

 

 

 

 

 

 

87 partitions into _____ and _____ 

10s 10s and 1s 

10s and 1s 1s 
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Fluency 3 

Combine using the part-whole models and equations.  

40 + _____ = 74 

21  + _____ = 23 

74 

40  

85 

 

10 

10 + _____ = 85 

_____ + 3 = 55 

Fluency 4 

Partition using the part-whole models and equations.  

40 + 27 = _____ 

47 + 2 = _____ 

 

27 40 

 

7 

31 

31 + 7 = _____ 

30 + 66 = _____  

 

66 

30 

 

47 2 

55 

3  

23 

 

21 
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Fluency 5 

Partition using the part-whole models and equations.  

39 - _____ = 19 

24 - _____ = 3 

24 

3 

 

47 - _____ = 42 

62 - _____ = 50 

39 

19 

 

47 

42  

62 

 50 
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Fluency 5 

Partition using the part-whole models and equations.  
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24 - _____ = 3 

24 
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62 - _____ = 50 
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